RBTE —iREE No.1
£ 1 B ==Xiv2
S\ R 15
AR BIE— S R 1.828 + 20.108 1.828 = 23.764 6.275 = 149.119 149 m
FHLY H=2.0m 1.828 + 0.914 20.108 + 0.914 1.828 = 25.592 25.6 m
FHY H=09m 0.914 + 0.914 = 1.828 1.8 m
] 3.600 X 0.900 3 = 9.720 9.7 m
eI —RNEY 0.700 X 4.500 3.150
1.128 X 3.775 4.258
0.914 + 20.108 0.914 + 1.828 23.764 X 8.275 196.647 179 m
3.656 + 1.828 0.914 6.398 X A 2825 A 18074
&5t 178.573
R HE M (4t =) I 18 + BITE 1& 2 =
BT & (25t IL—-Y) 1 1 =




BE-BAER-LsTE O —LiEE No.2

£ 1 B ==Xiv2
BRT7RI7ILN VY ILERE 16.880 + 18.480 = 35.360 X 1.230 = 2 = 21.746
A 1.100 x 1.000 - 2 X 3 = A 1.650 .
22.3 m
0.720 x 1.000 - 2 X 2 X 3 = 2.160
&5t 22.256
BIR7ZRAI7ILML—D40 5k 223 m
=AREHKHIV YY) — MY 1.140 X 0.720 - 2 X 2 X 3 X 0.120 = 0.295 0.3 m
FRAI7ILES VT LS 223 m x 135 kg/m = 301.05 kg 301 kg
FARAI7ILRIL—D425 045 220 kg/% - 210 m X 223 m = 23.362 kg 23.4 kg
#Epar o) — sy 03 m X 245 t/m = 0.735 t 0.7 t
TRAI7ILES VT )LIE A EHE 301 kg
FRAIF7ILMIL—D4 05 FE M ERE 234 kg

Aas o) — MEIAER 0.7 t




AI% —HREE No.3

£ 1 B ==Xiv2
R#t
HETH# 30 % 90 X 3000 1.500 x 2 = 3.000 1 VN
Ei#E TH# 30X 40@455 17.080 + 18.480 = 35.560 - 2 = 17.780 X 4 = 71.120 2 &
71.120 - 3.600 = 19.756 &
X TH# 30X 40@300 1.100 X 4 X 3 = 13.200
0.720 X 3 X 3 = 6.480 6 &
Hi 19.680 - 3.600 = 5.467
E#t
1.58 108
15 L5'¢
SOUER T1 t=12 1.365 X 18.200 = 24.843 - 1.6562 = 15.000
SA4HILER t=5 3 ®
KIFM
BHREATHEREY 17.080 + 18.480 = 35.560 X 1.230 - 2 = 21.869 21.9 m
BRAKT A A HILIRIEY 1.100 X 0.720 X 3 = 2.376 24 m
Eok?)
EX-av9)—kEX 21.9 + 24 = 243 243 m




BIRIRETSE —HiRIEE No.4
g H
£ 1 B ==Xiv2

BHRERANS—TJvEkiismig| 16880 + 18.480 35.360 X 1.230 = 21.746
BE t=035 21.7 m
FARAI7ILMIL—D4 T 8= 21.7 m
BEAS—7yvREIEMRET| 18.480

t=0.35 18.5 m
FEARNWS—D7vHREEHIRE 17.080

t=0.35 17.1 m
YA RHBHS—7 v ER R 1.230 X 2 2.460
$itk#E t=0.35 25 m
o—)2g  15x%30 1.230 x 2 2.460 25 m
mEFIL—2 12t575— ! 8
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